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1. � α1, α2, β1, β2 ´¢ê§�õ�ª p(x) = ax2 + bx+ c ÷v

p(αi) = βi, i = 1, 2.

�Ñ p(x)�Xê a, b, c÷v��5�§|±9T�§|éA�XêÝ
ÚO2Ý
.

2. �äe�ü��5�§|´�N��´Ø�N�¶XJ�N§�ä´(½��´Ø½
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(1)


x+ 2y + 3z = 4

2x+ y + 2z = 6

x+ y + 3z = 2

, (2)


y + z = 4

2x+ y + 3z = 1

x+ y + 2z = 2

.

3. |^êÆ8B{y²:

n∑
k=1

k =
n(n+ 1)

2
Ú

n∑
k=1

k2 =
n(n+ 1)(2n+ 1)

6
.

4. �e�¢Xê�§| 
a1,1x1 + a1,2x2 + · · ·+ a1,nxn = 0

a2,1x1 + a2,2x2 + · · ·+ a2,nxn = 0
...

am,1x1 + am,2x2 + · · ·+ am,nxn = 0

. (1)

kü|): 
x1 = α1

x2 = α2

...

xn = αn

, Ú


x1 = β1

x2 = β2
...

xn = βn

.

y²: é?¿¢ê c, 
x1 = cα1

x2 = cα2

...

xn = cαn

, Ú


x1 = α1 + β1

x2 = α2 + β2
...

xn = αn + βn

�´�§| (1) �).
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